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* 1M[FEHERES |RIEMERERE 0.200[ A 35,000 7,000, 35,000 7,000 0.000 0
* 12(ERES RIFZMTEHEEEREE 0.300] A 25,900 7,770| 25,900 7,770 0.000 0
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504|#1 #1 & NELEIcHTIEE 4.000] % 2,436 97 0 0|#HI & 0.000 0
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* 12(ERES R ERAERHEE 0.200[ A 25,900 5,180| 25,900 5,180 0.000 0
504 | ¥ ¥ & RIS HEE 1.000] % 16,930 169 0 0|M¥E 0.000 0
g 17,099 16,930 0.000 0
B fiff 1.0 AHY 17,099
EEAGE 16,930
ZTDMhIEE 169

data| (5#)




= REE?
2 21 18 Il B i 5= i
FHES 3228 | B4l 58 |BRES| 3208 |sucasnEEs
Bifa % [BAKESRIRVEHEZE J1-FNo ER > £ 1.00 ER B & A RE e E A=
B & _ 5-1-1-1(2) f 3 NEEAGE B o= [[REesRONES)
R [EliNe| 2 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 122(ERES RIFMTEHEEEREE 0550 A 25,900 14,245 25,900 14,245 0.000 0
* 22| T R EHEEEREE 0.300] A 29,600 8,880 0 0|FHE 0.000 0
504 |1 & HEEHEIcHTBEE 1.000[ % 23,125 231 0 o|# ¥ & 0.000 0
802| BELFREETIEH  |EnfEIwREY 30.000] H 365 10,950 0 ol iRz & 0.000 0
B 34,306 14,245 0.000 0
H i 1.0 FHANY 34,306
EEANE 14,245
ZTRMBEE 20,061
data| (&%) 250,000*+0.1460/100=365
1




= REE?
=25 1 A B (i 3= i
FHES 3352 | B4l 58 |BRES| 3352 |sacasnEEs
Bl | BB ER R VT E EIE 1-FNo ER > £ 1.00 YE R B L = RE e E A=
B & _ _ e B NEEAHRE B o= [[REesRONES)
T 7 T 1 B & | By B m | & %8| B i | & %8 i B& | = %8
* 1582 FEHED RIFMTEHEEEREE 0.010[ A 45,700 457| 45,700 457 0.000 0
* 16 = HEf R EHEEEREE 0.130] A 40,000 5,200/ 40,000 5,200 0.000 0
* 178 EFEh#d R3pfiTEEERLE 0.140] A 30,700 4,298 30,700 4,298 0.000 0
* 18[ A= BIF R EEEREE 0170 A 29,600 5032 29,600 5,032 0.000 0
500(FEM & MR LHEIcHTHEE 8.500 % 14,987 1,274 0 0 0.000 0
B 16,261 14,987 0.000 0
B fiff 1.0 25Y 16,261
EEANE 14,987
ZTRMBE 1,274
data| (f5%) 1/35RHY EBEE+REEREMHE
1




= REE?
kR R E i
e 3353 =50 58 ERB=| 3353 |satasnnuEs
BE{mZ ¥ |GPSER R E k218 1-FMNo B B 1.00 {ERK B (oL [E AE ST E A E A=F-
B & _ _ 1% - NEEAE B o= [[REesRONES)
e 7 H ® B = | B B Im | & % | B m | = %= i B3 | = %8
* 15[ Bl=F EHEm R ERAERHEE 0.200] A 45,700 9,140| 45,700 9,140 0.000 0
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2| E{EHED RIFMTEHEEEREE 1.500] A 57,400 86,100/ 57,400 86,100 0.000 0
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4|3ENB RIFZMTEHEEEREE 1.000 A 40,600 40,600/ 40,600 40,600 0.000 0
5|HiEfiC R ERAEHE 1.000 A 32,800 32,800/ 32,800 32,800 0.000 0
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B 198,200 198,200 0.000 0
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